

R M M

ROMANIAN MATHEMATICAL MAGAZINE

www.ssmrmh.ro

Prove that:

$$\sum_{n=1}^{\infty} \frac{\exp(-\pi n)}{n(n+1)(2n+1)(2n)!!} =$$

$$Ei\left(\frac{\exp(-\pi)}{2}\right) - 2 \exp\left(\frac{\pi}{2}\right) \sqrt{2\pi} \operatorname{erfi}\left(\frac{\exp\left(-\frac{\pi}{2}\right)}{\sqrt{2}}\right) - \gamma - \log\left(\frac{\exp(-\pi)}{2}\right) +$$

$$+ 2 \exp\left(\frac{\exp(-\pi)}{2 + \pi}\right) - 2 \exp(\pi) + 3$$

γ : Euler-Mascheroni constant; Ei : exponential integral

erfi : imaginary error function

Proposed by Mokhtar Khassani-Mostaganem-Algerie

Solution by Dawid Bialek-Poland

$$\sum_{n=1}^{\infty} \frac{\exp(-\pi n)}{n(n+1)(2n+1)(2n)!!} \xrightarrow{(2n)!!=n!2^n} \sum_{n=1}^{\infty} \frac{\left(\frac{e^{-\pi}}{2}\right)^n}{n(n+1)(2n+1)n!} - \underbrace{\sum_{n=1}^{\infty} \frac{\left(\frac{e^{-\pi}}{2}\right)^n}{nn!}}_{S_1} +$$

$$+ \underbrace{\sum_{n=1}^{\infty} \frac{\left(\frac{e^{-\pi}}{2}\right)^n}{(n+1)n!}}_{S_2} - 4 \underbrace{\sum_{n=1}^{\infty} \frac{\left(\frac{e^{-\pi}}{2}\right)^n}{(2n+1)n!}}_{S_3} \quad (1)$$

$$S_1 - \sum_{n=1}^{\infty} \frac{\left(\frac{e^{-\pi}}{2}\right)^n}{nn!} \stackrel{(I)}{\rightarrow} E_t\left(\frac{e^{-\pi}}{2}\right) - \gamma - \log\left(\frac{e^{-\pi}}{2}\right) - E_i\left(\frac{\exp(-\pi)}{2}\right) - \gamma - \log\left(\frac{\exp(-\pi)}{2}\right) \quad (2)$$

Where (1) $E_i(x) \stackrel{def}{=} \gamma + \log(x) + \sum_{n=1}^{\infty} \frac{x^n}{n \cdot n!}$, E_t - exponential integral

$$S_2 = \sum_{n=1}^{\infty} \frac{\left(\frac{e^{-\pi}}{2}\right)^n}{(n+1)n!} = \sum_{n=1}^{\infty} \frac{\left(\frac{e^{-\pi}}{2}\right)^n}{(n+1)!} = \sum_{n=1}^{\infty} \frac{\left(\frac{e^{-\pi}}{2}\right)^n}{(n+1)!} - 2e^\pi - 1 \stackrel{(II)}{\Rightarrow} \frac{e^{-\pi}}{\frac{e^{-\pi}}{2}} - 2e^\pi - 1 = 2 \exp\left(\frac{\exp(-\pi)}{2} + \pi\right) - 2 \exp(\pi) - 1 \quad (3)$$

Where (II) $\frac{e^x}{x} \stackrel{def}{=} \sum_{n=0}^{\infty} \frac{x^n}{n!} \cdot \frac{1}{x} = \sum_{n=0}^{\infty} \frac{x^{n-1}}{n!} = \sum_{n=-1}^{\infty} \frac{x^n}{(n+1)!}$

$$S_3 = 4 \sum_{n=1}^{\infty} \frac{\left(\frac{e^{-\pi}}{2}\right)^n}{(2n+1)n!} = 4 \cdot \sum_{n=0}^{\infty} \frac{\left(\sqrt{\frac{e^{-\pi}}{2}}\right)^{2n}}{(2n+1)n!} = 4 \cdot \sqrt{\frac{2}{e^{-\pi}}} \cdot \sum_{n=1}^{\infty} \frac{\left(\sqrt{\frac{e^{-\pi}}{2}}\right)^{2n+1}}{(2n+1)n!} =$$

R M M

ROMANIAN MATHEMATICAL MAGAZINE

www.ssmrmh.ro

$$= 4\sqrt{2e^\pi} \left[\sum_{n=0}^{\infty} \frac{\left(\sqrt{\frac{e^{-\pi}}{2}}\right)^{2n+1}}{(2n+1)n!} - \sqrt{\frac{e^{-\pi}}{2}} \right] = -4 + 4\sqrt{2e^\pi} \cdot \sum_{n=0}^{\infty} \frac{\left(\sqrt{\frac{e^{-\pi}}{2}}\right)^{2n+1}}{(2n+1)n!}$$

$$\stackrel{(III)}{\Rightarrow} -4 + 4\sqrt{2e^\pi} \cdot \frac{\sqrt{\pi}}{2} \operatorname{erfi}\left(\sqrt{\frac{e^{-\pi}}{2}}\right) = -4 + 2e^{\frac{\pi}{2}} \cdot \sqrt{2\pi} \cdot \operatorname{erfi}\left(\frac{e^{\frac{(-\pi)}{2}}}{\sqrt{2}}\right) = -4 + 2 \exp\left(\frac{\pi}{2}\right) \sqrt{2\pi} \operatorname{erfi}\left(\frac{\exp\left(-\frac{\pi}{2}\right)}{\sqrt{2}}\right) \quad (4)$$

Where (III) $\operatorname{erfi}(x) \stackrel{\text{def}}{=} \frac{2}{\sqrt{\pi}} \sum_{n=0}^{\infty} \frac{x^{(2n+1)}}{(2n+1)n!}$, $\operatorname{erfi}(x)$ - imaginary function

Rewriting (1) with (2), (3) and (4) we get:

$$\begin{aligned} \sum_{n=1}^{\infty} \frac{\exp(-\pi n)}{n(n+1)(2n+1)(2n)!!} &= S_1 + S_2 - S_3 = E_i\left(\frac{\exp(-\pi)}{2}\right) - \gamma - \log\left(\frac{\exp(-\pi)}{2}\right) + \\ &+ 2 \exp\left(\frac{\exp(-\pi)}{2} + \pi\right) - 2 \exp(\pi) - 1 + 4 - 2 \exp\left(\frac{\pi}{2}\right) \sqrt{2\pi} \operatorname{erfi}\left(\frac{\exp\left(-\frac{\pi}{2}\right)}{\sqrt{2}}\right) = \\ &= E_i\left(\frac{\exp(-\pi)}{2}\right) - 2 \exp\left(\frac{\pi}{2}\right) \sqrt{2\pi} \operatorname{erfi}\left(\frac{\exp\left(-\frac{\pi}{2}\right)}{\sqrt{2}}\right) - \gamma - \log\left(\frac{\exp(-\pi)}{2}\right) + \\ &+ 2 \exp\left(\frac{\exp(-\pi)}{2} + \pi\right) - 2 \exp(\pi) + e \end{aligned}$$